
1

IMPORTANT:

IMPORTANT:

Go to www.extron.com for the 

complete user guide, installation 

instructions, and specifications.

ZipClip 400/ZipCaddy 400 • Installation Guide

wwww

eeee

ZipClip 400 ZipCaddy 400

Figure 1.	 Front and Side View of the 
ZipClip 400/ZipCaddy 400

The ZipClip 400/ZipCaddy 400 mounting kit is a plastic mounting kit allowing 
1/2, 1/4, and 1/8 rack width, 3 inches (76 mm) or select 6 inches (152 mm) deep 
Extron enclosures and select small form factor PCs to be securely and easily 
mounted to various surfaces, such as under a table, on a rack rail system (side or 
back), or in a lectern.

The ZipCaddy 400 has two sides with a step groove to allow the edges to snap 
into the ZipClip 400. The ZipCaddy 400 disengages with a press of the lever tab 
on the ZipClip 400.

NOTES:	

•	 A 1/2 rack product takes up the entire ZipCaddy 400 plate. Multiple 1/4 
and 1/8 products fit onto the ZipCaddy 400 side-by-side.

•	 Included cable ties are used to secure cables to the ZipCaddy 400 (see 
figure 5 on page 2).

Included Parts:

•	 (1) ZipClip 400

•	 (1) ZipCaddy 400

•	 (4) Cable tie wraps

•	 (4) Product mounting #4-40 screws

•	 (4) ZipClip mounting #12 wood screws

•	 Installation guide

Installing Device Onto a Rack

50-60 Hz

   1
00-240V ~

--A
 MAX

1

L

R

1

2

3

4

5A

6A
XTP

Tx Rx
RTS CTS

G

Tx Rx G
Tx Rx G

RS-232     
IR

Tx Rx
Tx Rx

G

Tx Rx G

RESET

XTP

DTP

XTP

DTP

EXP

+48V
MIC/LINE

1

1

3

2

4

2

3

4

LI
N

K

LAN 2

LAN 1

LAN 3

DTP

HDBT

1

2

3

4

5

7

8

6

DTP CROSSPOINT 108 4K

4

CLASS 2 WIRING

8
/

R

OVER TP

R
E

M
O

T
E

SIG     
     

LINK

IN

SIG     
     

     
LINK

IN

A
U

D
IO

 IN
P

U
T

S

A
U

D
IO

 O
U

T
P

U
T

S

A
M

P
 O

U
T

P
U

T

C
O

N
T

R
O

L

1
2

3
4

G

DIGITAL I/O

COM 3

COM 2

COM 1

S

D
M

P
 E

X
PA

N
S

IO
N

S

G

G

1

1

2

2

C
3

4
C

IN
P

U
T

S

IN
P

U
T

S

-S
G

+S
+V

PWR OUT = 6W

O
U

T
P

U
T

S

RS-232     
IR

Tx Rx
Tx Rx

G

RS-232     
IR

Tx Rx
Tx Rx

G

XTP

DTP

XTP

DTP

9

10

OVER TP

SIG     
     

LINK

IN

SIG     
     

     
LINK

IN

RS-232     
IR

Tx Rx
Tx Rx

G

1L

R

1L

R

3L

R

3L

R

5L

R

2
L

R

4
L

R

2
L

R

4
L

R

6
L

R

IR/SERIAL

eBUS

RELAYS
SIG     

     
 LINK

OUT

SIG     
     

 LINK

OUT

5B 

6B

6

RS-232     
IR

Tx Rx
Tx Rx

XTP

S/PDIF

OUT

DTP HDBT

G

RS-232     
IR

Tx Rx
Tx Rx

G

OVER TP

XTP

DTPHDBT

SIG     
     

 LINK

OUT

SIG     
     

 LINK

OUT

7

8

RS-232     
IR

Tx Rx
Tx Rx

XTP

DTP

HDBT

G

RS-232     
IR

Tx Rx
Tx Rx

G

OVER TP

CONTROL S

     
     

IN

OUT

(MONO)

L

R

AUDIO

VIDEO
S VIDEO

TEL LINE    

HDMI

AC IN

AC OUT

WIDE BAND DATA

SATELLITE IN

LOW SPEED DATA

RF REMOTE

AUDIO 3

OUT
L

R

RGB OUTPUT

RGB IN
PUT

A-V IN
PUT

A-V OUTPUT

AUDIO

R

VIDEO

G

B

H/HV

V

A

AUDIO
L

R

B

A

L

R

B

IS
OG C 

SY
NC

50/60 Hz

100-240V     
 1.3A

RGB OUTPUT

RGB IN
PUT

A-V IN
PUT

A-V OUTPUT

AUDIO

R

VIDEO

G

B

H/HV

V

A

AUDIO
L

R

B

A

L

R

B

IS
OG C 

SY
NC

50/60 Hz

100-240V     
 1.3A

RGB OUTPUT

RGB IN
PUT

A-V IN
PUT

A-V OUTPUT

AUDIO

R

VIDEO

G

B

H/HV

V

A

AUDIO
L

R

B

A

L

R

B

IS
OG C 

SY
NC

50/60 Hz

100-240V     
 1.3A

RGB OUTPUT

RGB IN
PUT

A-V IN
PUT

A-V OUTPUT

AUDIO

R

VIDEO

G

B

H/HV

V

A

AUDIO
L

R

B

A

L

R

B

IS
OG C 

SY
NC

50/60 Hz

100-240V     
 1.3A

CONTROL S

     
     

IN

OUT

(MONO)

L

R

AUDIO

VIDEO
S VIDEO

CH 3

CH 4

VHF/UHF

VHF(SAT)/U
HF

IN

OUT

TEL LINE    
AC IN

AC OUT

WIDE BAND DATA

SATELLITE IN

LOW SPEED DATA

RF REMOTE

AUDIO 3

OUT
L

R

eeee

wwww

eeee

wwww

Back of Rack

ZipClip 400

ZipCaddy 400
1

2

3

1/2-rack product
shown

Figure 2.	 Installation onto the Back of a Rack.

1  

2  

1.	 Install the ZipClip 400 to the rack (see figure 2, 1). Rack screws are 
not provided.

2.	 Secure the rack product, products, or small PC to the ZipCaddy 400 
with the provided #4-40 product mounting screws (2).

3.	 To install, insert the ZipCaddy 400 onto the ZipClip 400 and click 
into place (3).
To remove, press down on the ZipClip 400 tab.



 

2

68-3371-50 Rev. C
07 20

© 2019-2020 Extron Electronics — All rights reserved.  www.extron.com 
All trademarks mentioned are the property of their respective owners.  

Worldwide Headquarters: Extron USA West, 1025 E. Ball Road, Anaheim, CA 92805, 800.633.9876 

For information on safety guidelines, regulatory compliances, EMI/EMF compatibility, accessibility, and related topics, see the 
Extron Safety and Regulatory Compliance Guide on the Extron website.

Installing Device Underneath a Desk
1.	 Mark the position of the mounting holes using the ZipClip 400 as a template.

2.	 Drill holes underneath the desk 1/2 inch (13 mm) deep, using a 9/64 inch (3.5 mm) pilot drill bit.

3.	 Position and secure the ZipClip 400 against the bottom of the desk using the provided #12 wood screws into the pre-drilled 
pilot holes (see figure 3, 1).

4.	 Secure the rack product, products, or small PC to the ZipCaddy 400 with the provided #4-40 product mounting screws (2).

5.	 To install, insert the ZipCaddy 400 onto the ZipClip 400 and click into place.

To remove, press down on the ZipClip 400 tab (see figure 4, 3). 

21-
981

21-982

e

21-982

Under Desk

ZipClip 400

Extron Rack Product
Mounting Holes

Holes for 
Cable Ties

ZipCaddy 400
ZipCaddy 400

ZipCaddy 400

Rack Product

Mounting Slots
for Selected
Small Form Factor PCs

1

2

Small Form 
Factor PC

or

Figure 3.	     Installation Under a Desk

eeee

3

1/2-rack product
shown

wwww

Figure 4.	 Remove ZipCaddy 400 from ZipClip 400

HDMI O
UTPOWER

12V
--A

 MAX

HDMI O
UTPOWER

12V
0.2A MAX

SIG

POWER

12V     
    

--A
 M

AX

AUDIO

INPUTS

SIG     
    L

INK

DTP2 OUT

OVER DTP2

RS-232
IR

Tx Rx
Tx Rx

G

Cable Tie

Shown with one 1/4-rack product
and two 1/8-rack products

Slot

Figure 5.	 Secure Cables to ZipCaddy 400 with Cable Ties

3  

4  5  

http://www.extron.com
http://www.extron.com/68-290-01

